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g a) 34 x1)0 =340 b) 22 x10 = 220 c)18x10 =130
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- Every row has 3 tens counters | Every row has 2 tens counters | Every row has ! tens counters
g and 4 ones counters. There are | and 2 ones counters. There are | and £ ones counters. There are
§ 10 rows. Each row has a value | 10 rows. Each row has a value [ 10 rows. Each row has a value
of 34. of 22. of 18.
2) a)
12|12f12]12] 12 i 12|12f12f12]12 Z;';'Zi:e:”e}::';’ets Fled with 12 12x10.=120
o A AR ; G AR Accept any suitable number story. 1S x 10 = 1S0
T EIENEN 21"|)21 BT Accept any suitable number story. 21x10 = 2)0
ala o= 741 nEane Accept any suitable number story. 4l x 10 = glo
b) Accept any correct representations, such as a part-whole model or place value counters.
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Answers

1) Similarities: Accept any correct similarity. For example, they both have the same factors of IS and 10 and the
same product of 150,
Differences: Accept any correct difference. For example, the image of the place value counters shows ten rows
of fifteen whereas the bar model shows fifteen groups of ten.

2) a) The number story is the odd one out because it shows 23 groups of 10 while the other representations show 10 groups
of 23.
b) Accept any representation that shows 10 groups of 23.

1) a
) ) 7 x 10 21 x 10 35 x 10 32 x10 @
N7
65 x 10 14 x 10 63 x 10 84 x 10
28 x 10 40 x 10 49 x 10 36 x 10
77 x 10 42 x 10 70 x 10 24 x 10

b) sé x)o = s60

2) The hundreds digit could be a 3, 6 or 9. The tens digit could be a 0 or S. The ones digit could be a ), 3, S, 7 or 9. In total,
there are 30 possible calculations and answers.

301 x 10 = 3010

381 x10 = 3510

601 x 10 = 6010

6S1x10 = 6510

901 x 10 = 90l0

951 x )0 = 45)0

303 x 10 = 3030

383 x10 = 3530

603 x )0 = 6030

653 x)0=6530

903 x 10 = 4030

953 x 10 = 9530

308 x 10 = 3050

3855 x 10 = 3550

6085 x 10 = 6050

655 x 0= 6550

908 x 10 = 3050

355 x10 = 4550

307 x 10 = 3070

387 x10 = 3570

607 x 10 = 6070

657 x10 = 6570

907 x 10 = 9070

357 x 10 = 4570

309 x 10 = 3090

359 x )0 = 3590

609 x 10 = 6090

659 x10 = 6590

909 x 10 = 9090

959 x 10 = 9590
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